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Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4 marks.

Answer all Five questions from Group C, each question 

carries 6 marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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inventory management.

of marker planning.

different components.

OR

OR

6

8.
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1. Choose the most suitable answer from the following

options :1x20=20

(i)

(i)

(ii)

P.T.O

GROUP - A

‘FIFO’ is an acronym that stands for:-

(a) Finite inventory for office

(b) Fade in fly out

(c) First in first out

(d) None of these

Success of marker planners are measured by:

(a) Complexity of pattern

(b) Marker utilization

(c) Number of piles

(d) None of these

                 GROUP  - C

7.

6

6 x 5 = 30
Answer all Five Questions.

1642505 NT5079 NT5079

garment.

OR

What is warehouse management ? What are the 

benefits of warehouse management system.
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(iii)

(iii)

(iv)

(ii)

marker planning?

(a) Carbon duplicating

(b) Spirit duplicating

(c) Diazo photographic method

(d) All of the above

fabric can not be spread keeping all the plies

(a) Face up

(b) Face down

(c) Face to face

(d) None of these

1642505
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OR

OR

What are the goals of line balancing ?

What are the key points to be considered while 

selecting a trim ?

finishing section.

4

4

6.

5.
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3.

(iv)

(v)

(v)

(vi)

OR

Tight selvedges cause fullness in the 
(a) Central area of spread
(b) Side area of spread
(c) Bottom layer of spread
(d) None of these

be carried by the larger spreading machine is:
(a) 50 kg
(b) 70 kg
(c) 100 kg
(d) 120 kg

4
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4

4.
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OR

system?

it done ?

Explain the reason of fused edge in cutting and 

how can these be overcomed ?

influence apparel production ?
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(vii)

(vii)

(viii)

(vi)(xx)

When a cloth spreading machine returns to the 
first end without spreading to begin the 
next ply, the return pass is known as
(a) Dead heading
(b) Synchronising
(c) Plying
(d) Dispensing

Arrangement of cutting room should ensure
cutting process takes...................
(a) Higher time than bundling
(b) Higher time than spreading
(c) Lesser time than spreading
(d) None of these

Answer all Five Questions.
4 x 5 = 20

2.

4

What are the major functions of warehouse ?
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(viii)

(ix)

(ix)

as

(a) Cost / Input

(b) Input / Output

(c) Input + Output

(d) Output / Input

men’s formal shirt ?

(a) Stand up pack

(b) Hanger pack

(c) Half fold pack

(d) None of these

Work tickets provide basic information about
(a) Style number
(b) Size of the garment
(c) Number of garments
(d) All of the above

grading ?
(a) Carbon duplicating method
(b) Diazo phothographic method
(c) Spirit duplicating method
(d) Computerised marker method             
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(x)

(xviii)

(xix)

(xx)

(xix)
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An operation breakdown is a sequential list
of all operation involved in assembling a
..............
(a) Garment
(b) Component
(c) Style
(d) All of the above

Upon receiving purchase requisition form 
from production control, purchasing 
department issues.............
(a) Sales tally form
(b) Receiving memo
(c) Purchase order
(d) Cutting order

(a) Carbon duplicating 
(b) Spirit duplicating
(c) Diazo photographic method
(d) None of these

measurement.
(a) Time study
(b) Method study
(c) Motion study
(d) None of these

(xi)

(xi)

(x)
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(xii)

(xvii)

(xvii)

(xviii)

(xvi)
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(a) Labour intensive

(b) Machine intensive

(c) Neither labour nor machine intensive

(d) None of these

refers to a customer for

(a) Count

(b) Thread colour

(c)  Needle size

(d) None of these

potential capacity is known as

(a) Maximum capacity

(b) Potential capacity

(c) Required capacity

(d) Available capacity

The aim of line balancing is

(a) To balance the work bad of each operation

(b) To make the flow of work smooth

(c) To cut down the waiting time to a minimum

(d) All of the above

(xiv)

(xv)

(xv)

(xiv)

(xii)

(xiii)

(xiii)
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10.
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Define marker. Narrate about various constraints 

of marker making.

 

What are different methods of spreading fabrics?

Write about effect of width variation in spreading

and cutting.

improve line balancing to increase productivity of

sewing department ?

9.

6

OR

OR

10.

6

P.T.O

Define marker. Narrate about various constraints 

of marker making.

 

What are different methods of spreading fabrics?

Write about effect of width variation in spreading

and cutting.

improve line balancing to increase productivity of

sewing department ?

9.

6

OR
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in apparel production.

Write down advantages and disadvantages of 

stand -up pack.

***

OR

11.

6

in apparel production.

Write down advantages and disadvantages of 

stand -up pack.

***

OR

11.

6
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